
©Q uK8umt5aH fSzo1fztcwBaLrRe4 4LKLzCT.B A tAGlTlf JruiwgthitLs5 0rLeesZeerKvzeWdd.H g aMRaYdFeZ nwxiQtIhE 0I7nEfAiZnWi0tHeW sAJl2gve1bBrya3 p1g.y Worksheet by Kuta Software LLC

Algebra 1 Name___________________________________

  Period____Date________________ Chap. 1-4  Review

Evaluate each expression.

1)  

 

−6 − 

 

(

 

−6 − 

 

5) 2)  

 

(

 

−2 − 4) ÷ −2

3)  

 

(

  

−3

2
 − 

  

−1

4 ) ÷

 

−2

3
4)  

 

(

  

−4

3
 − 

 

1

2) ÷ 1

Evaluate each using the values given.

5)  

   

y

 

 + 

   

z

 

÷ 3; use 

  

y

 

 = −1, and 

  

z

 

 = −3 6)  

   

yz

 

 − 

  

x

 

; use 

  

x

 

 = −3, 

  

y

 

 = 4, and 

  

z

 

 = −4

Solve each equation.

7)  

 

1 − 3

  

p

 

 + 2

  

p

 

 = −7 8)  

 

1 − 6

  

k

 

 − 4 = −15

9)  

  

−5(

 

7 + 6

  

a

 

) − 8

  

a

 

 = 

 

6

  

a

 

 − 

 

(

 

3

  

a

 

 − 6) 10)  

 

8

  

n

 

 − 2 + 5 − 4

  

n

 

 = 

  

5(

   

n

 

 − 2) − 

 

(

 

−1 − 5

  

n

 

)

11)  

   

8

5

  

x

 

 + 

 

9

2
 − 1 = 

 

87

10
12)  

   

−
2

3

  

k

 

 + 1 + 

 

10

7
 = 

 

37

21

13)  

 

2.2 − 4

  

n

 

 = 

 

1.6 − 3.7

  

n

 

 + 2.1

  

n

 

14)  

 

−2.1 − 1.5

  

m

 

 + 

  

m

 

 − 3 = 

   

m

 

 − 3.6

-1-
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15)  

 

4 − 

 

4

  

b

 

 = −24 16)  

 

3 + 

 

3

  

n

 

 = 18

Solve each proportion.

17)  

 

9

6
 = 

 

8

  

x

 

18)  

   

a

 

5
 = 

 

4

8

Write an inequality for each graph.

19)  
−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

20)  
−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

Draw a graph for each inequality.

21)  

  

p

 

 ≥ −3

−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

22)  

  

n

 

 < 5

−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

Solve each inequality and graph its solution.

23)  −16

  

m

 

 ≤ 32

−5 −4 −3 −2 −1 0 1 2 3

24)  −17 > 

   

n

 

 − 

 

16

−5 −4 −3 −2 −1 0 1 2 3 4

25)  

    

m

 

3
 + 6 < 1

26)  

  

−5

  

v

 

 − 8 ≤ −33
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Algebra 1 Name___________________________________

  Period____Date________________ Chap. 1-4  Review

Evaluate each expression.

1)  

 

−6 − 

 

(

 

−6 − 

 

5)

5

2)  

 

(

 

−2 − 4) ÷ −2

3

3)  

 

(

  

−3

2
 − 

  

−1

4 ) ÷

 

−2

3

 

15

8

4)  

 

(

  

−4

3
 − 

 

1

2) ÷ 1

 

−
11

6

Evaluate each using the values given.

5)  

   

y

 

 + 

   

z

 

÷ 3; use 

  

y

 

 = −1, and 

  

z

 

 = −3

−2

6)  

   

yz

 

 − 

  

x

 

; use 

  

x

 

 = −3, 

  

y

 

 = 4, and 

  

z

 

 = −4

−13

Solve each equation.

7)  

 

1 − 3

  

p

 

 + 2

  

p

 

 = −7

{8}

8)  

 

1 − 6

  

k

 

 − 4 = −15

{2}

9)  

  

−5(

 

7 + 6

  

a

 

) − 8

  

a

 

 = 

 

6

  

a

 

 − 

 

(

 

3

  

a

 

 − 6)

{−1}

10)  

 

8

  

n

 

 − 2 + 5 − 4

  

n

 

 = 

  

5(

   

n

 

 − 2) − 

 

(

 

−1 − 5

  

n

 

)

{2}

11)  

   

8

5

  

x

 

 + 

 

9

2
 − 1 = 

 

87

10

 

{

 

13

4 }

12)  

   

−
2

3

  

k

 

 + 1 + 

 

10

7
 = 

 

37

21

{1}

13)  

 

2.2 − 4

  

n

 

 = 

 

1.6 − 3.7

  

n

 

 + 2.1

  

n

  

{

 

1

4}

14)  

 

−2.1 − 1.5

  

m

 

 + 

  

m

 

 − 3 = 

   

m

 

 − 3.6

{−1}
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15)  

 

4 − 

 

4

  

b

 

 = −24

{7, −7}

16)  

 

3 + 

 

3

  

n

 

 = 18

{5, −5}

Solve each proportion.

17)  

 

9

6
 = 

 

8

  

x

 

{5.33}

18)  

   

a

 

5
 = 

 

4

8

{2.5}

Write an inequality for each graph.

19)  
−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

  

p

 

 > −2

20)  
−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

  

v

 

 ≤ −6

Draw a graph for each inequality.

21)  

  

p

 

 ≥ −3

−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

22)  

  

n

 

 < 5

−7 −6 −5 −4 −3 −2 −1 0 1 2 3 4 5 6 7

Solve each inequality and graph its solution.

23)  −16

  

m

 

 ≤ 32

−5 −4 −3 −2 −1 0 1 2 3

24)  −17 > 

   

n

 

 − 

 

16

−5 −4 −3 −2 −1 0 1 2 3 4

25)  

    

m

 

3
 + 6 < 1

  

m

 

 < −15 :  
−17 −16 −15 −14 −13 −12 −11

26)  

  

−5

  

v

 

 − 8 ≤ −33

  

v

 

 ≥ 5 :  
1 2 3 4 5 6 7 8 9
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